Efficiency vs Dxy(PV)

S 1.2
o
=
<
S
o
>
>
[
c
2
3]
e
5]
°
I
o
615 -0 =5 0 5 10 15 20

TP dxy(PV) (cm)

[ fake+duplicates vs dxy(PV) ]

B0 =I5 <10 5 0 5 10 15 20

track dxy(PV) (cm)

—=— DQM_original_step2__pt1to1000_etalp6to2p0
—e— DQM_mkFit_step2__pt1to1000_etalp6to2p0
I Efficienc] —— DQM_pixelCPETemplate_step2__pt1to1000_etalp6to2p0

0.8]

efficiency vs dxy(PV)

0.6F
0.4

0.2]

Qb=

Ratio

0.5

TP dxy(PV) (cm)

Efficiency vs Dz(PV)
0.8,

0.7

T T ST paee

0.5

efficiency vs dz(PV)

0.4

0.3]

0.2]

Ratio

10 20 30
TP dz(PV) (cm)

|
[
o
I
[N T
o
|
=
(=]
(=]

Efficiency vs Dz(PV)
0.8,

0.

efficiency vs dz(PV)

-1 -0.5 0

Ratio

0.5 1
TP dz(PV) (cm)

H806=04-02 0 02 04 06 08 HB806-04-02 0 02 04 06 08

track dxy(PV) (cm)

[ fake+duplicates vs dz(PV) |

<001

-30 -20 -10 0 10 20 30

track dz(PV) (cm)

[ fake+duplicates vs dz(PV) ]

S 0.01¢

-1 -0.5 0 0.5 1
track dz(PV) (cm)



	Contents
	Page 1


